1. MAIEMAIVIHMECRVIV
OAUKTAHT:

8,9,3,7,2,6,1,5,4

2. PABOTA HALQ PAOOM
YUCEI:

1,3,5,6,7,9
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KPYI'JTIbIE HACIJIA

3agauum:

1) o3HaKOMUTLCA C 3aNUCBLIO U
HasBaHMeM KpPyrnbiX 4ucen,
C UxX rpacpm4ecKummn
MoAensaMu ;

2) HayuyunTbcH cpaBHUBaATb
Kpyrrnble Yucna, cKknaablBaTb
N BbIYNTAaTb;

3) OTpabaTbiBaTb CYETB



Ne2
o SRR AN o 0 400

30 70 40 60 90 20 10 50 80

2 W=
=3




Ne 4

AVARJAVAVAE AWARA'

20 + 30 =
/%\0/\/\ A/\A
A A AR,

60 - 10 =50




AN CAAN
A AEAASS I A
40 + 20 =

B\ AN
AAA— AAA = O
AAA AN =

90 - 80 = 10 )




Ne 3

30<80 60>20 50>7
0<60




\

40

Ne5

Y
?

40 + 30 = 70 (a.)
OTBeT: 70 oeTemn.
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40 -30=10(Mm.)

OTBeT: Ha 10 ManNbLYUKOB

oornblle.




